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1. oore frgphze W% bed iR Sfrer : 1x8=8
Choose the correct answer from the following :
(a) SR *RACB! CAREATRT I IR IRy
The word ‘Animism’ for the first time was
used by
) . . e
K. M. Kapadia

(i) 3 R iR

E. B. Tylor
(iii) SN, . >
R. N. Sharmg
l3\15"‘/1032 ( Turn Over)
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(b) Kinship OrganizationINR JgIS (13T (R

The author of the book, Kinship
Organizationis

() WS el

Irawati Karve ‘

|
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(i) SR 9BrS =y .

Pa.

- None of the abov_e

Ry R SRR @ car sty o
The Hindu Marrig,
the year of

8¢ Act’ was enacted in
() 1955
(i) 1937

(iii) 1956
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(d) g wh aem o R

(e)

The chief religioﬁs bc;ok of the Hindus is
(i) A
Ramayana
(i) el
Geeta
(iii) ™
Veda

IS AUR e AeCE TR GIC RO
FrarEeE W (R

The theory of Abbe Dobois regarding the
origiri of the caste system 1s

@ % FER
religious theory

() AT Frane
political theory

(i) ererem P
racial theory

«+ myrn OUET )
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“‘Unemployment is a condition Of_

involuntary idleness.” Said by

W f o=
D. Mello

(ii) sgrRe P
Prof. Pigou

(i) ] e v
Naba Gopal Das

(g) WWWW&WW‘IWO
Which of the followin,

g is not the cause of
poverty? -

U S —

Economic cause

(i) TR ey

Social cayge
(@) Sfafes Sre
Economic development
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(h)

(S)

‘4T TRFR TR FF 2R R w110
S 2

The concept of Teligious sa.crament’ is
related to which type of marriage?

(i) T R

Islam Marriage

(@ ey Rz
Hindu Marriage

(i) = Rz .
Christian Marriage

2. vy et B, R o SR (Tt 150 i

foowo) :

Write short notes on any four (within 150
words each) :

. (a)

a1 e e
Characteristics of rural society

() WQ@WW

Marriage as social institution

c) &S o I

13—15+/1032

Caste and Varna

4x4=16



(6)

- (d) I S R
Corruption in public life

'(‘;)“@\Fam,_

Dowry system

() R fSerer
Social mobility

3.ﬁ@mﬂﬁﬁlﬁ’ﬂ3%mﬁm‘(m 500
‘R‘T\ﬁ\?}):

~Answer any four questions (within 500.

words each) :

P13—15*/1032

(c)

(@)

(e)

26

(7)

Ry wixe faan 1 Ry s 9 @3 <ifda e

{ﬁ CPRET 7 [ F9 2+12=14
Define marriage. Why Hindu Marriage’

is regarded as religious sacrament?
Discuss.

wIfey kel Ao | SRee TS IRFR Beoifew
6=14
I Jo1 e Ao 34 | 2+6+

Define caste. Discuss any two theories of
origin of caste system in India.

wRere! et R 3o ? SReE wREer FRT

5o & & e S IR0, e
2:?: " 4+10=14

What is meant by poverty? Write briefly
about the strategies taken by . the
Government of India to control poverty.

YT SROH TS APPIERFIT SR Foofcsh

AL F90 ! 14
Discuss the impact of Westernisation on
modern Indian society.
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